Which of these shapes has a perimeter of 20 cm?

B square with length 5 cm
8 Rectangle with length 10 cm and width 2 cm

© square with length 10 cm
B Rectangle with length 12 cm and width 8 cm
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Leanna solves 36 + 3 like this.
| | | | | |
[nformal Metirools
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§tep 1: Build the number

TMWM/HA/me;fwyWMWk/




Leanna solves 36 + 3 like this.

| | | | |
Step 2: Share the tens

Now- Uty eosier to- duatoe:

30 - 10 = 3

Wiiten 30 goes info- 10 3 Hmes:




Leanna solves 36 + 3 like this.

| |
Step 3: Share the ones ‘ ‘ ‘ ‘ ‘

We do- exactly Hre some for Hre uwnits.

2 A
A | How many Hmes to- 3 go- into- 67
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_Task one: In your books represent these sums with tables and diraw the counters:

I
36 > 3 = Dnle 4
96 + 3 =
48 -2 =
369 - 3
388 - 8
—q03 - 3




_Task one: In your books represent these sums with tables and diraw the counters:
Answers: | |1

56 - 5= B Onle s
—96 5 = .
48 2= 24
369 3 =123
888 g = 111

—q03 - 3 =301
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' Task two in books:

Extension: Explain how to represent division in the bus stop method.

You represent the division by.......




' Task two in books:

Ans

WErs:

Spicy:
66l 6 =

42| 2 =

11
11
5
32
12
11
o1

Formal representation

You represent the division by.......

Extension: Explain how to represent division in the bus stop method.




& Jack is dividing 84 by 4 using place value counters. @

s. Q00000000000
|| First, he divides the tens. Then, he divides the ones.
Tens Ones
Y 00
| <
w5 W
r‘\] Fan
w
& ==

Use Jack’s method to calculate:

69 +3 88 +~ 4 96 + 3

. . Eva has 96 sweets.
S p | Cg * —+ | She shares them into equal groups.
She has no sweets left over.
How many groups could Eva have shared
her sweets into?




ANSWers:

& Jack is dividing 84 by 4 using place value counters. @

s. 000000000000
|| First, he divides the tens. Then, he divides the ones.
Tens Ones )
y 00 Tors Ones
W /‘<| ® 00| ©
V<
}‘\I/ B I P g
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L (88 ge @

Use Jack’s method to calculate:

69 +3 88 +~ 4 96 + 3

| ||
23 22 > 2 Eva has 96 sweets.

Sp | Cy' - ' She shares them into equal groups.
She has no sweets left over.
How many groups could Eva have shared

her sweets into?
3 or 6




